= TR - R B | B | #E B =% wE
BERUVHBRE
EERERE
BHAR - 208 (Uofk - HeT1r
& e 6.0
BERRE - hRE (R - A = 6.0
EHAE - REE (R = 20
WAL - FRIAE 4 1.0
REEBITE - 2BMHET = 3.0
RRRER = 1.00
BExAE ha 0.15
BRER ha 0.15
BERAE =% 1.00
HREE ha 0.15
AR RRMRE ha 0.15
BRAEAE =% 1.00
BRLAHEAE ha 0.15
mEHE = 1.00
EEHE ha 0.15
AR R E S DO /FR % 1.00
R #0528 B TR B 1% ha 0.15
At FEEER ha 0.15
23 P 55 R E 75 5% = 1.00
NEFMEEE L OITAE 2% | 1.00
1 7 T R4 B km 0.05
IREEEER km 0.05
BB EERL km 0.05
AANFEDR BHMBERISE A 5.0
DEERE REBRERER (2ZLFT) = 20
TEIERERESE " 2.0
EEEBE
HRE E2 1.0
EZ oAl
HERIALEE
& &




